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The figures in the margin indicate full marks
for the questions

Write the answers to the separate Halves
in separate books
FIRST HALF
( Inorganic Chemistry )
( Marks : 32)
1. @ Saach! 3 Sferedr : 1x3=3
Select the correct answer :

(@) ARG IR 24
Positron particle is
{U —leo (ii) +le0
Gii) on' (iv) H!
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(2)

(b) (T HRIW PR WYTHATS (TN

RIRT I TN W?

Nessler’s reagent used for the
precipitation of basic radical is

fii K* (i) Na‘
{iii) Ca2* (iv) NH;
) FVRTS R AR TG TA
The metal ion present in chlorophyll is
@ M3z (i Mg?*
(i) Mn2* (iv) Fe2*
2. e fRmReR el fam : 2x3=6
Answer the following :
(a) (TR ST o el fora o 1+41=2

(b)

()

p9/316

Write down two applications of
radioactive isotopes.

9B RFYE 1T W Bl o1% WR @1 IR
form 1+1=2

Name one zinc-containing paint and
give one use of it.

R dfe o R sore PR
fgf‘ﬂl 2

Write the symptoms of lead poisoning
effect in biological system.

( Continued )



(3)

3. R @ i oo Te IR - 314x2=7
Answer any fwo questions :
(o) coufEn Rt Facd 57 @b SrRPR !
AN F9U 1%2+2=3%

(v}

()

(d)

P9/316

What is radioactive disintegration law?
Explain the law with suitable example.

fAG-o'6 e SEme AR e

e (& g2 R SIS I 940
2+1%=3"%

What do you mean by stability of nucleus

in terms of neutron-proton ratio?

Explain it with diagram.

EiFTel 7 yeRe we Fhm culEen
Ry Sazaepz w41 Yo+ 1%+1%=3%

What is radioactivity? Explain the term
natural and artificial radioactivity with
example.

59 GO for 1%+2=3%

Write short notes on :

() <=8 &
Mass defect

(i) TR IHA R

Radiocarbon dating
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4. Wﬁm@mﬁwaﬁmmaﬁ,
B AT o AF GIORT AN TR Fr
(R =1 9) : 3% (1%+1+1)x2=7

Give one method of preparation, one chemical
property and one important use of each of
the following compounds (any two) :

(@) flRam i g
Lithium aluminium hydride

(b) AW FIAFGAREGRS

Sodium cobaltinitrite
(c) <RI @RS
Potassium ferrocyanide
(d) =fAm YW gECTFs
Sodium thiosulphate
5. R N 1 R Te1 IRA - 2Y,x2=5
Answer any two questions :
() RS feme R g w41

Discuss about the role of zinc in
biological system.

(b} TRATRS 61 TR STIE e 90 |

Discuss the function of cobalt in
human body.

(c) (&7 afears SeReearR g w41 |

Discuss about the role of molybdenum
in biological system.
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6. R @ g 2R Ty IR : 2x2=4
Answer any two questions :
(@ TWIRTER & &7 TR b I TEY 790
1+1=2

What are myoglobins? Mention one
function of it.

(b) FERARR R T3 [ Rk 7 SeEn
FH!
Discuss the poisoning effect of cadmium.

(c) e w1 FTRTS Mg?* www PR
ST 3 |

Discuss the role of Mg2?' ion in
chlorophyll of plant.
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SECOND HALF
( Physical Chemistry )
( Marks : 32)

7. wT Tegol I Slerer : 1x3=3

Select the correct answer :

(@) ToF (TR 9 9% e Rediea

A promoter is a substance which

) R e Tm

lowers the kinetic energy of
reactants

(i) RiFR ferm % 29 ¥

lowers the activation energy of
reaction

(i) SFEOIT IR & TR

enhances the activity of the
catalyst

(iv) SO AMge 3 IW

enhances the concentration of the
catalyst
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(b) 91 GRIF-CAN R PSR
The nature of a lyophilic sol is

(i) Sezam

reversible

(i) ST

irreversible

(i) T Tea W QAR
SRS
sometimes reversible and sometimes
irreversible

(iv) @ GBS T
None of the above

() R S WA GFC T R
ARG TR TS

A system containing liquid water and
water vapour has the number of phases

equal to
i O
(i) 1
(iii) 2
(iv) 3

Tu
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UNIT—I

8. & e @bt 2R Tel IR 5

Answer any one question :

(a) W‘vfﬁaﬁawwworﬁmw

(b)

PS/316

QAT GeR ATS TR AR I
ARTET =, ©F [ T | 3+2=5

What are molar and equivalent
conductances? Describe how the molar
conductance change with change in
concentration.

(i) R FIFT T B 2
Define cell constant.

(i) 25°C Twore X sper KCl m bR
8 «fRafRel 0:002765 mho. 3f @
G 49 (I GOR @ 400 ohms =,
(OB (PN FEFT T 5191 37 | 3

The specific conductance of an
N

5o solution of KCl at 25°C is
0-002765 mho. If the resistance of
a cell containing this solution is
400 ohms, then calculate the valye
of cell constant.

( Continued )
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UNIT—II
9. R @I [ o Teq I : 3x2=6

Answer any fwo questions :
(@) ITE ofdeay IWER IR @bl @@ pH
e Ry 3R AR, 3 F411 3

Describe how the pH of a solution can
be determined by using quinhydrone
electrode.

(b) v G 1%4x2=3
Write short notes on :
(i) =V
Salt bridge
(i) 2Pizol Sf%ea
Reference electrode

(c) 95 °C Txers woTe il (FECere <51 R

o oI TR RpeoeEe @ A 90 3

Write the cell reaction of the following
cell at 25°C. Calculate the e.m.f. of

the cell :
Zn(s) | Zn2* (0-002 M) || Ag* (0-2 M) |Ag(S)

=R,
e ° , =-0-76V
Eng/ag' =080V S® Egy 02
Given
° ¢ , =-0-76V
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UNIT—III
10. R @ Tt [ Ve FRQ 2x2=4

Answer any two questions :
(@) TG T TP WA PR QR ?
TArIPR ford | 2

What are homogeneous and hetero-
geneous catalysis? Give examples.

(b) R RO TP T qRMID a1 2

Write the main assumptions of Langmuir
adsorption isotherm.

(c) SRCIRT O IR QAR ? it SReamd
TR AR s | 1+1=2

What is adsorption isotherm? Write
down the Freundlich adsorption
isotherm equation.

UNIT—IV

11. R @GN @b o Ted ¥R : 4
Answer any one question :
(@) TIT-IN-ARA I THO ATE eI TS
foq <ifs 3 01 4

Describe the phase system of ice-
water-water vapour system with the
help of phase rule and phase diagram.
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(11)

(i) fom Ry R 2 T oo fran 2
What is triple point? Write its
significance.

(i) SRR, dRE R AE TART WRIQ
i o 2

Define number of phases and
number of components with
examples.

‘UN I—V

12. {1 @ 9o 2R T IR 214%2=5

Answer any two questions :

(a)

()

(c}

P9/316

FREYR TG @Bl AFT-AA By | WY
e TR TSR GO NP T 1%+1=2%

Write down any one method of
preparation of lyophobic colloid. Write
any one difference between lyophobic
and lyophilic colloid.

2 -perer MSCH 2 <m0 2%
What is Hardy-Schulze rule? Explain it.
CppRTT T @ARE? GBI STITR TR
91 1+1'4=2%
What is peptization? Explain with one
example.

{ Turm Over )



13. (a)

(b)

(12 )

UNIT—VI
CTRIG-RTES Fach! S 4 | 3
Derive Lambert-Beer law.

FROG% TF FHF (IO TG [0 N9 a1t 2

Write two differences between
fluorescence and phosphorescence.

¥ /Or
HTAR-3ge Rfem Rac ogee o

Write a short note on photosensitized
reaction.

% % ok
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